R\ EESE

Rudin : p.78 # 6, 7, 8.
Read the proof of Theorem 3.20, 3.27, 3.28, 3.29.

Extra problems

1. Let a,20 and b, >0 V n,and suppose lim%:L(LeR, or L=o0),

n

Prove that

(a) If Le R, L#0, then Zan converges if and only if an converges.

n=1 n=1

(b) If L=0, thenif an converges then Zan converges.

n=1 n=1

(c) If L=oo,thenif Zan converges then an converges.

n=1 n=1

2. Prove that if Zan converges absolutely, then Zanz converges.
n=1 n=1
3. (optional)

Suppose that {a,} is decreasing and Zan converges, prove that limna, =0.

n—oo
n=1
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